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Lösung Warenbuchungen 

Eröffnungsbilanz zum 01.01.2010 
BGA            20.000,00 €  Eigenkapital          123.000,00 €  
Warenbestand            70.000,00 €  Darlehen            40.000,00 €  
Forderungen            15.000,00 €  Verbindlichkeiten            30.000,00 €  
Bank            80.000,00 €  

  Kasse               8.000,00 €  
             193.000,00 €             193.000,00 €  

 

Beleg-
Nr. Geschäftsfall  Soll   Haben 
1 BGA          900,00 €    
     an Verbindlichkeit            900,00 €  
2 Kasse        1.900,00 €    
     an Mietertrag          1.900,00 €  
3 Wareneingang      12.000,00 €    
     an Bank        12.000,00 €  
4 Büromaterial          500,00 €    
     an Kasse            500,00 €  
5 Bank      10.000,00 €    
     an Provisionserlöse        10.000,00 €  
6 Forderungen      45.000,00 €    
     an Warenverkauf        45.000,00 €  
7 Darlehenszins        2.000,00 €    
     an Bank          2.000,00 €  
8 Löhne      10.000,00 €    
     an Bank        10.000,00 €  
9 Kasse        7.000,00 €    
     an Warenverkauf          7.000,00 €  

10 Verbindlichkeiten        5.000,00 €    
     an Bank          5.000,00 €  

  Summen 94.300,00 94.300,00 
 

Schlussbilanz zum 31.12.2010 
BGA            20.900,00 €  Eigenkapital          162.400,00 €  
Warenbestand            70.000,00 €  Darlehen            40.000,00 €  
Forderungen            60.000,00 €  Verbindlichkeiten            25.900,00 €  
Bank            61.000,00 €  

  Kasse            16.400,00 €  
             228.300,00 €             228.300,00 €  
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